MEMORIES - AN APOLOGY

Once, while | was talking to my astronomy class in Northern California, |
asked them, “How many of you have run into Einstein’s famous equation in which
what we call matter — mass — is set equal to energy?” Mrs. Banks said that she
had not run into that equation; so | asked her where she had gone to school.
When she told me that she had gone to Stanford University, and that she had
done Graduate work there, and yet had never run into that famous equation, |
said to her, “Stanford owes you.” Well, that was nearly 30 years ago.

Unfortunately Einstein’s equation has been wrongly represented,
worldwide, to mean that mass can be converted into energy. But that is wrong.
If mass could be converted into energy, like kinetic energy can be converted into
gravitational energy on the up-swing of a pendulum, then that equation would
have been E+m=K, or, the sum of mass and energy is a constant. But Einstein
never interpreted his equation that way. He referred to it as “the equation in
which energy is set equal to mass.” There is only energy. And towards the end
of his life he wrote that matter had fallen out of the physics as a fundamental
concept. In his life he probably never noticed the usual misinterpretation of his
equation because no one would have written it down as E+m=K.

This usual misinterpretation is probably responsible for the fact that even
our educated public is unaware that the Universe is made of energy, not matter,
and that it is wound up to some 500 atom bombs per pound against gravity by
the dispersion of the particles through space, and to the same 500 atom bombs
per pound against electricity because the particles are so minute. I'll explain.

The gravitational field is condensational. It tends to bring things together,
and we wind things up against gravity by pushing things apart, like pushing a car
uphill. And things are wound up to some 500 atom bombs per pound just by
being separated, in the gravitational field, from all the rest of the matter in the
entire observable Universe. We are only a little bit separated from the Earth, but
we are a great deal more separated from all the rest of the matter in the
observable Universe and that is what winds us up to 500 atom bombs per pound.
The energy of 500 atom bombs weighs only one pound on Earth. It is that
simple, but not so easy to see.

Unlike the gravitational field, the electrical field is self dispersional. It
tends to push like charges aparf. And we wind things up against electricity by
pushing like charges together. If we push 2 electrons together they will weigh
more together than they weighed apart because the energy of pushing them
together is still in there, and it is only energy that is heavy. As is turns out, the
energy required to make the charge of one electron as small as one electron is
its mass, because you would be pushing negative charge against negative
charge and thus winding it up. Once again, it is that simple, but not easy to
comprehend.
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This sort of information was salted away in my early education more than
70 years ago but still, until now, it is difficult for me always to remember that the
rest of the American public was not so lucky. We live on a small planet where
the gravitational field is so tender that these energy relations are anything but
obvious. If we lived on a neutron star it would be a very different matter and a
great deal easier to see. I'll explain.

A cubic inch of a neutron star weighs as much as a cubic mile of iron. If
we lived on a neutron star where the mountains were only half an inch tall, and
where it would still take several generations just to climb one, even if every speck
of our biological energy was used in the climb, then these energy relations would
be more obvious. it is a bit more difficult to see them here on Earth.

If you dropped an old fashioned 10-gram marshmallow on to a neutron
star the splash created would be enough to vaporize a town. That would be a 1-
gram splash. But if you dropped it onto a black hole with all the rest of the
observable Universe inside it, then it would be a full 10-gram splash. A 10-gram
marshmallow is the energy of 10 atomic bombs. | know, it doesn’t look like that,
and they will sell you a whole bag of them at the grocery store for $1.19. But
they have no idea what they are doing. And almost no one sees this as it really
is.

Because all of this information was dumped on me so long ago | tend to
see the world this way and | don't always remember that most people do not
even smell it. It is for my failure to remember this that | apologize.

The energy of the explosion that blew Crater Lake in Oregon long ago
was only 42 pounds. Yet it blew some 35 cubic miles of rock into powder and put
it up in the stratosphere at 80,000 feet. That was just 42 pounds. The energy
which the Sun releases, each second, is 4,500,000 tons. It has been doing that
for 5 billion years of seconds and it will continue to so for another 5 billion. But
when one of these iron core stars goes supernova (collapses into a neutron star)
in % of second it releases 100 times as much energy as the Sun releases in 10
billion years. And that is still only 10% of the mass of that star.

It is for not bearing all this in mind when | talk to my friends that | now
belatedly apologize.

The world is made of energy, and energy is the Underlying Existence
showing through in space and time. Gravitational energy is the Undivided
showing through, electrical energy is the Infinite showing through, and Inertia is
the Changeless showing through.

John L. Dobson, February 10, 2006, Hollywood, California
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MEMOIRES
AN APOLOGY

Once, while | was talking to my astronomy class in Northern California, |
asked them, “How many of you have run into Einstein’s famous equation in which
what we call matter, mass, is set equal to energy?” Mrs. Banks said that she had
not run into that equation; so | asked her where she had gone to school. When
she told me that she had gone to Stanford University, and that she had done
graduate work there, and yet had never run into that famous equation, | said to
her, “Stanford owes you.” Well, that was nearly thirty years ago.

Unfortunately Einstein’'s equation has been wrongly represented, world-
wide, to mean that mass can be converted to energy. But that is wrong. If mass
could be converted to energy, as kinetic energy can be converted to gravitational
energy on the up-swing of a pendulum, then that equation would be E + m = K,
the sum of mass and energy is a constant.

But Einstein never interpreted his equation that way. He referred to it as,
“the equation in which energy is set equal to mass.” There’s only energy. And
toward the end of his life he wrote that matter had fallen out of the physics as a
fundamental concept. He probably never noticed the usual misinterpretation,
because no one would have written it down as E + m = K.

This usual misinterpretation is probably responsible for the fact that even
our educated public is unaware that the Universe is made of energy, not matter,
and that it's wound up to some five hundred atom bombs per pound against
gravity by the dispersion of the particles through space, and to the same five
hundred atom bombs per pound against electricity because the particles are so
minute. I'll explain.

The gravitational field is condensational. It tends to bring things together,
and we wind things up against gravity by pushing things apart, like pushing a car
uphill. And things are wound up to some five hundred atom bombs per pound just
by being separated, in the gravitational field, from all the rest of the matter in the
observable Universe. We're only a little bit separated from the Earth, but we're a
great deal more separated from all the rest of the matter in the observable
Universe, and that's what winds us up to five hundred atom bombs per pound.
The energy of five hundred atomic bombs weighs only one pound on Earth. It’s
that simple, but not easy to see.

Unlike the gravitational field, the electrical field is self dispersional. It tends
to push like charges apart. And we wind things up against electricity by pushing
like charges together. If we push two electrons together, they weigh more
together than they weighed apart because the energy of pushing them together
is still in there, and it's only energy that's heavy. And, it turns out, that the energy
required to make the charge of one electron as small as one electron is, is its
mass, because you'd be pushing negative charge toward negative charge, and
winding it up. Once again, it's that simple, but not easy to comprehend.
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This sort of information was salted away in my early education more than
seventy years ago, but still, till now, it's difficult for me always to remember that
the rest of American public was not so lucky. And we live on a small planet where
the gravitational field is so tender that these energy relations are anything but
obvious. If we lived on a neutron star it would be a very different matter, and a
great deal easier to see. I'll explain.

A cubic inch of a neutron star weighs as much as a cubic mile of iron. And
if we lived on a neutron star where the mountains were only half an inch tall, and
where it would still take several generations to climb one, even if every speck of
our biological energy was used in the climb, then these energy relations would be
more obvious. It's a bit more difficult to see them here on Earth.

If you dropped an old fashioned ten gram marshmallow to a neutron star,
the splash would be enough to vaporize a town. It would be a one gram splash.
And if you dropped it to a black hole with all the rest of the observable Universe
inside, it would be a ten gram splash. A ten gram marshmallow is the energy of
ten atomic bombs. | know, it doesn’t look like that, and they'll sell you a whole
bag of them at the grocery store for a dollar nineteen. They have no idea what
they're doing. Almost no one sees this as it really is.

Because all this information was dumped on me so long ago | tend to see
the world this way, and | don’t always remember that most people don’t even
smell it. And it's for my failure to remember this that | apologize.

The energy of the explosion that blew Crater Lake in Oregon, long ago,
was only forty-two pounds. It blew some thirty-five cubic miles of rock to powder
and put it in the stratosphere at eighty thousand feet. That was forty-two pounds.
The energy which the Sun releases, each second, is four and one half million
tons. It's been doing it for five billion years of seconds, and will continue for
another five. But when one of those iron core stars goes supernova (collapses to
a neutron star) in three quarters of one second, it releases a hundred times as
much energy as the Sun releases in ten billion years. And that's only ten percent
of the mass of that star. '

It's for not bearing all this in mind, when | talk to my friends, that | now
belatedly apologize.

The world is made of energy, and energy is the Underlying Existence
showing through in space and time. Gravitational energy is the Undivided
showing through, electrical energy is the Infinite showing through, and inertia is
the Changeless showing through.

John L. Dobson, February 10, 2006, Hollywood, California



NAMES

If we hadn’t named things before we knew what was going on, we might
not be so confused.

Although it may be a mistake, let's keep the names for time and space but
drop the names for gravity and electricity. Then let's ask how we see what we
see in time and space.

If the underlying existence is really not in time and space, it follows from
the geometry that it must be Changeless, Infinite, and Undivided. And, since it is
the underlying existence that we see in time and space, the Changeless, the
Infinite and the Undivided must show through in what we see. Let's call the
Undivided showing through in time and space the condensational energy, the
Infinite showing through, the dispersional energy, and the Changeless showing
through, the inertia, because that time we got the right word. And we have it
from Einstein that they're all the same thing, E = m, where E equals energy and
m equals inertia. (In India, long ago, they had a word, Shakti, which includes both
the E and the m. They saw Shakti as the underlying existence showing through
in time and space. And they saw the whole Universe as made of this Shaki, this
energy.)

Now, since the money that one earns in a dream never gets in the bank
and, since seeing the underlying existence in time and space must be due to a
mistake, it would seem to me that neither the condensation, nor the dispersion
nor the inertia should succeed. From first principles it would appear that the
Universe must have frustration built in. Inertia is frustrated by both the
condensational energy and the dispersional energy, because they both promote
change. And those two energies frustrate each other, because, to the extent that
the condensational energy produces condensation, it gets converted to
dispersional energy, and to the extent that the dispersional energy produces
dispersion, it gets converted to condensational energy. And the standard
illustration is the pendulum and, of course, the planets orbiting around a star. As
a comet falls in, it speeds up and coasts away.

As the condensational energy causes the hydrogen to fall together to
galaxies and stars it gets converted to the kinetic energy of orbits and heat which
prevent the further collapse. And some of it gets converted to radiation which
looses its energy to the cosmological expansion (by red shifting) and further
prevents collapse.

The dispersional energy of the proton’s charge is frustrated by the
opposite charge on the electron, and the dispersional energy of the cosmological
expansion is frustrated by recycling the particles from the border. Even the
entropy doesn’t go up.

-John L. Dobson July 21, 2002
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NOT TWO

Most of the modem scientists have misunderstood Einstein's 1905 equations,
and many of the modemn Vedantins have misunderstood Vedanta

Einstein's 1905 geometry puts time in as anti-space so that the time interval
between two events must be subtracted from the space interval to get the total
space-time separation, which alone is objective. But the total space-time
separation between the events stands at zero if the space and time intervals
between the two events are equal. Now Einstein didn't like that the space-time
separation between two events could go to zero, and he said that the only thing
we can understand by its going to zero is that a light beam could get from one
event to the other "in vacuuo." But the equation says that the separation goes to
zero, and it's the equation that we test.

The mathematician, Minkowski, didn't like the minus sign on the square of the
time interval under the radical in Einstein's Pythagorean equation for four
dimensions, so he changed it to a plus sign and then put the square root of
minus on in front of the time interval. Gerard Pardeilan said that we owe that
extravagance to the "First Church of Minkowski." That was very confusing, and
the square root of minus one ran through the books for decades on end. And
Einstein said, "Since the mathematicians have got hold of relativity, | myself don't
understand it."

But if we're going to measure both time and space intervals for our separation
equation, we need to find commensurate units, like years and light years. And
what is known in the trade as the speed of light is not the speed of anything at all.
What's called the speed of light is simply the ratio of space to time. Thirty billion
centimeters is equal to a second, and one light year is equal to one year. If you
see an explosion a light year away, you'll see if also as a year ago, and the
separation between the two events is zero. The separation between us and what
we see, and between us and what affects us by gravity, has always been zero.

Now | have met only one physicist who takes that separation equation as
Einstein wrote it in 1905, and he says there are no "photons." That's because,
for what are know in the trade as "photons" and "gravitons", there is no
separation between their emission and absorption events. The objective space-
time separation goes to zero. They simply don't exist.

Let me continue with a quote:
"Quantum mechanics, the double slit experiment and Feynman's "sum over

histories” are the observational evidence that the geometry of what is known in
the trade as the real world is four-dimensional, and that space and time come
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into that geometry as a pair of opposites so that the space-time separations
between the emission and absorption events for what are know in the trade as
"photons" and "gravitons" are zero. That allows us to see, by mistake, a
Universe as if spread out before us, yet with zero separation between us and
what we see, and with zero separation between us and what affects us by
gravity. It's like a dream.

"Gravity, electricity, and inertia are the observational evidence that we are
seeing, in time and space, an Underlying Existence which is not in time and
space, and is therefore Changeless, Infinite, and Undivided. The Changeless
shows through in the misperception as inertia; the Infinite shows through as the
electrical energy of the minuscule particles; and the Undivided shows through as
gravity and the attraction between opposites."

That's a quote from the Little One in the science fiction story, The Moon is New.
The Little One has presented the evidence for Einstein's geometry, and she has
added the suggestion that there might be an Underlying Existence showing
through in our physics.

First we need to understand that if we have mistaken the Underlying Existence
for what we see in time and space, we must have seen the Underlying Existence,
because you can't mistake your friend for a ghost without seeing your friend.
And if your friend is tall and thin, the ghost will be tall and thin, and if your friend
is roly-poly, you'll see a roly-poly ghost. So the Little One has said that the
Changeless, which must show through, shows through as inertia, and the Infinite
and the Undivided show through as electricity and gravity.

Einstein's famous equation, E = mc?, says that there's no such thing as matter.
There's only energy, which those ancient physicists in India said, long ago, was
the Underlying Existence showing through. This famous equation has been
misinterpreted over the whole planet as meaning that mass could be converted
to energy. But that would be different equation, E + m = K, where K stands for a
constant. And since in Einstein's day we were measuring mass in grams and
energy in ergs, we had to now how many ergs make a gram. That's the ¢?, in that
equation. It simply says that the number of ergs that make a gram is the square
of thirty billion.

Einstein took that equation the way he wrote it, that there's no such thing as
matter, and referred to that equation as "the equation in which energy is set
equal to mass." And toward the end of his life he wrote, "Matter had fallen out of
the physics as a fundamental concept." He never made that usual mistake. Most
probably he never even saw how it was taught in school.

So much for where our modern scientists have slipped up. How about our
modern Vedantins, where have they slipped up?
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First we need to go back to those early Vedantins, the early physicists, a few
thousand years ago. They saw that the Universe is made out of energy, and
they even had Einstein's E=m built into their Sanskrit language. Now their word
for the Universe was Jagat, the changing. But they were smart enough to see
that change is seen with respect to something else. If you're going down the
highway at sixty milers per hour, it's with respect to the highway. So those early
physicists saw that there must be, underlying the Universe which we see, an
existence not in time and space and therefore neither changing, finite, or divided.

Their question then was, "If what exists is changeless, how do we see change?"
And they saw that it must be due to a mistake. So they studied mistakes. Now
the notion that we have mistaken that Underlying Existence, Braham, for the
world which we see, and that the Underlying Existence shows through in what we
see, is the root of Advaita Vedanta. That's why those early Vedantins studied
mistakes.

And they pointed out that in order to mistake a rope for a snake, there are three
things that one must do. First, one must fail to see the rope rightly. That they
called the veiling power of Tamas. Then, one must jump to the conclusion that
i's a snake. That they called the projecting power of Rajas. And finally, one
must have seen the length and diameter of the rope, in the first place, or one
never would have mistaken it for the length and diameter of a snake. That they
called the revealing power of Saffva. You can't mistake your friend for a ghost
without seeing your friend. The Underlying Existence must show through.

This is where the Sankhyans slipped up. They failed to notice that the first cause
of our physics is a mistake and that the Underlying Existence must show through.
Then, of course, they also failed to notice that the three Gunas, i.e., Tamas,
Rajas, and Sattva are related to three aspects of that mistake. That was their big
slip. Nature, Prakriti, the first cause, was said to be made of the three Gunas,
but it wasn't thought to be a mistake. Prakriti was said to be active but insentient.
And that's another slip. Nature is sentient. Protons discriminate protons,
electrons, neutrons, spin up, spin down, gravity, electricity, and inertia. None of
our physics would work if matter were insentient. Prakriti was said to dance for
the Purushas, which are sentient. And the name of the game was isolation from
the Prakriti. This is very different from Vedanta.

Many of the modern Vedantins have slipped up here, by going along with the
Sankhyans in their use of the Gunas, and thus, overlooking the importance of the
revealing power, they tend to see Maya, nature, as a "thing" like the Prakriti of
the Sankhyans. They fail to see that there is only the Underlying Existence
showing through in the revealing power. They don't even mention the revealing
power, and they attribute the veiling and projecting powers to ignorance.

This is Sankhya, not Advaita Vedanta, not even Vedanta. Advaita Vedanta says
there is only the Underlying Existence. There is nothing else to see. This whole
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Universe is nothing but that Underlying Existence, Brahman, as seen in space
and time. And the name of the game is to see through the mistake.

Again | quote the Little One in The Moon is New. She often referred to Sri
Ramakrishna as the Old Man in J.D.'s shrine, and she said, "The life of the Old
Man in J.D.'s shrine is the observational evidence that the underlying existence
may be addressed as Mother, and that it's possible to reach Her through many
different paths."

-John L. Dobson Hollywood March 20, 2004

For Swami Swahananda
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